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\ Linearized knot diagam

S R

1

~N

Q/\/ ) Solving Sequence

812»15ﬁ462ﬁ967a ﬁ6ﬁ3ﬁ10%>02,05,010
A knot d1agranl €1 €8 Cr (11 G Cy

Ideals for irreducible component#ﬂ)f Xpar

I = (—ut® +6u®+ . 4 b—4, —5u® —4u™ + - +3a— 13, u'®+2u!® + ... — 13u+3)
Iy =(—ua+u? 4+ —a+1, —uPa—2u” 4+ +a+7,
ut —u® — Tu'?  5utt 41900 — 4uf — 260® — 130" + 170’ 4 210° + vt — 4u® — 6u® — 3u — 1)
I = (u® — 4 + 203 +4u® +b—3u+ 1, —u® —u? +4u® +2u® +a —5u—1
u” 4+ 2u8 — 3u® — 6ut + 3u® 4 5u® + 1)
I'=0b-1,d4+a+u—2 v —u—1)

Ir=b-1,a, ut+1)

IV ={(—u*+b+2, —u?+3a—2u+1, v +2u®> —u—3)
I'=({0,a-1, u—1)

=(b+1a—1, u—1)

I ={(a, b—1, v+1)

* 9 irreducible components of dim¢ = 0, with total 62 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

I. If =
(—u'®+6u'34...+b—4, —5u®—4u'*+...4+3a—13, u'®+2u'®+...—13u+3)

(i) Arc colorings

1
a2 = \ 0
1
ar = \qy?
Byl g Ayl gy 4 13
as = u15—6u13+~--—18u+4
%u15—|—%u14+~-~—18u+1§’
as = \ 5u® + 3uM + - —49u + 10
%u15_§u14+“._13u+1??
az = 3ul +u+ .- —35u+7
Lyls _dyld g0y 4 1
ag = u® —uMt 4+ —24u+5
U
a7 = \uy
—u? 41
a1 = —u?
—ud + 2u
a6 = \ —ud+4u
Fu® — Zul 4 4 6u— 2
as = 2ulS w4+ —8u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 5u!® + 4u'* — 36u'® — 14u!? + 103u*! — 32u!® — 158u” + 170u® +
88u” — 217ub + 91u® + 87u* — 95u® + 35u? + 10u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 w4+ + o 4 13u+1
Ca u® +10u"® + - —5u—3
C4,Cy w®—5u . —1Tu+5
Cs, C8 w4+ 2u® . — 2 —1
€6, C7, C10 w® — 2y . 1 13u 43
C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3 yO 13y 4+ — 49y + 1
C2 Yt — 4y 4 4113y + 9
€4, Co Yy — 11y + - — 199y + 25
Cs5,C8 y'® — 10y +.. — 18y +1
Ce,C7,C10 y16 o 16y15 Lo 43y 4 9
C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.548500 + 0.8537251
0.30836 — 1.437121
—0.66590 — 1.545071

5.38391 — 10.317401

—5.41022 + 7.347781

0.548500 — 0.8537251
0.30836 + 1.437121
—0.66590 + 1.545071

5.38391 4 10.317401

—5.41022 — 7.347781

0.578322 + 0.8761481
—0.869193 4 0.8574471
—0.18633 + 1.460721

5.31272 + 4.644471

—4.44340 — 2.642171

0.578322 — 0.8761481
—0.869193 — 0.8574471
—0.18633 — 1.460721

5.31272 — 4.644471

—4.44340 + 2.642171

0.217481 + 0.5927321
0.47227 + 1.508111
0.203575 + 0.9961711

0.50766 — 2.368381

—7.45824 + 4.040101

>~ Q@ S|l & €| & €| @ €| & &8> & &

0.217481 — 0.5927321
0.47227 — 1.508111
0.203575 — 0.9961711

0.50766 + 2.368381

—7.45824 — 4.040101

>~ & =
Il

1.39667
—1.16562
1.59448

—6.42671

—13.8540

—1.384810 + 0.2182611
—0.413538 — 0.7202701
0.78536 — 1.500621

—4.59888 4 5.315611

—16.0697 — 5.01951

—1.384810 — 0.2182611
—0.413538 + 0.7202701
0.78536 4 1.500621

—4.59888 — 5.315611

—16.0697 + 5.01951

>~ Q@ S|l & 2| & g
1

—1.48477 + 0.033261
0.374186 + 0.6618881
0.159333 + 0.6520881

—7.28530 — 0.333721

—13.77762 4 1.317681




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.48477 — 0.033261
a= 0.374186 — 0.6618881
0.159333 — 0.6520881

—7.28530 + 0.333721

—13.77762 — 1.317681

u= 0471433 + 0.1492811
a = 1.189440 + 0.5398801
0.190619 — 0.0174881

0.951255 — 0.2323451

—11.11372 4 2.614541

u= 0471433 — 0.1492811
a = 1.189440 — 0.5398801
0.190619 + 0.0174881

0.951255 + 0.2323451

—11.11372 — 2.614541

u = —1.54560 + 0.310711
a= 0.806991 + 0.6679341
b= —1.09400 + 1.472321

—1.4014 + 14.59841

—9.03391 — 7.729291

u = —1.54560 — 0.310711
a= 0.806991 — 0.6679341
b= —1.09400 — 1.472321

—1.4014 — 14.59841

—9.03391 + 7.729291

u= 1.80224
a = —0.238089 —15.4721 —27.5320
b= 0.620201




II.
I = (—u'3a+u®+---—a+1, —u'®a—2u'®+---+a+7, u'*—u'®+...—3u—1)

(i) Arc colorings
= (1)
a2 = )

ay =

a
as = \uBaq —ul? +-- +a—1>
a

ag = \u'Baq—ul3+ .- +a—1>
2u1‘3a7u12a+ t+a—2

(o
(v
(v
(v
az = (2u13 HuMt 4 —u — 1)
(i
(
2=
- (0
e

—uBa+uB 4+ Fu+2
ag =

wBa+ud 4+ +8u+3
U

a7= u

u? + 1)

3+ >

ud +

uBa—ul2 4. 424 —2

u12+ +a—1

—ut+3u? -1
ajp = —ut 4 202

(ii) Obstruction class = —1

(iii) Cusp Shapes = 11u'® — 10u!? — 72u't + 4940 + 176u° — 43u® — 211u" — 87ub +
135u® 4 125u — 27u3 — 12u% — 25u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 u?® — 4 . 4820 — 11
C2 (u** —6u'® - —10u +4)?
C4,Co u® — 20?7 4 .. — 264u + 24
Cs5,C8 u®® — " 11
Ce,C7,C10 (U14+U13+"'+3’U1* 1)2
C11,C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c3 y® 42497 + ..+ 3132y + 121
C2 (y** —4y™ + ... — 188y + 16)?
¢4, Co y?® —18y*" + .- — 12000y + 576
C5,C8 Yy ATy 41
Ce,C7,C10 (y14 o 15y13 R 3y 4 1)2
C11,C12




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.543841 + 0.7888451
a = —0.786499 — 1.1272401
b= —0.15757 — 1.509041

6.74935 + 2.613671

—3.08817 — 3.100851

u = —0.543841 + 0.7888451
0.59080 + 1.445731

6.74935 + 2.613671

—3.08817 — 3.100851

b= —0.57036 4 1.402751

u = —0.543841 — 0.7888451

a = —0.786499 + 1.1272401 6.74935 — 2.613671 | —3.08817 + 3.100851
b= —0.15757 + 1.509041

u = —0.543841 — 0.7888451

a= 0.59080 — 1.445731 6.74935 — 2.613671 | —3.08817 + 3.100851
b= —0.57036 — 1.402751

u= 1.10803

a= 0.948288 —1.64992 —5.91590

b= -0.313019

u= 1.10803

a= 0.875781 —1.64992 —5.91590

b= —-0.967676

u = —1.315420 + 0.0772391

a = —1.053540 — 0.8901971 | —2.09644 + 4.460561 | —6.21772 — 5.021101

b= 0.734783 — 1.0467801

= —1.315420 4+ 0.0772391
0.461982 — 0.0774431
b=—-1.17028 — 1.699991

—2.09644 + 4.460561

—6.21772 — 5.021101

uw = —1.315420 — 0.0772391
a = —1.053540 + 0.8901971
b= 0.734783 + 1.0467801

—2.09644 — 4.460561

—6.21772 + 5.021101

uw = —1.315420 — 0.0772391
0.461982 + 0.0774431
b= —1.17028 + 1.699991

—2.09644 — 4.460561

—6.21772 + 5.021101
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 1457974 0.127771
= —0.697357 + 0.5084411
1.08158 + 1.813621

—5.60858 — 6.114431

—13.6408 4+ 6.97171

1.45797 + 0.127771
= —0.139548 — 1.2808001
—0.085041 — 0.3492731

—5.60858 — 6.114431

—13.6408 4 6.97171

= 1.45797 —0.127771
= —0.697357 — 0.5084411
1.08158 — 1.813621

—5.60858 + 6.114431

—13.6408 — 6.97171

1.45797 — 0.127771
—0.139548 + 1.2808001
—0.085041 + 0.3492731

—5.60858 + 6.114431

—13.6408 — 6.97171

—0.019410 + 0.5307891
= —0.270655 + 0.3461241
—1.106740 + 0.5642461

1.71604 — 2.547981

—1.07278 + 1.433521

—0.019410 + 0.5307891
1.01173 + 2.295131
0.289802 + 1.0686401

1.71604 — 2.547981

—1.07278 + 1.433521

—0.019410 — 0.5307891
—0.270655 — 0.3461241
—1.106740 — 0.5642461

1.71604 + 2.547981

—1.07278 — 1.433521

—0.019410 — 0.5307891
1.01173 — 2.295131
0.289802 — 1.0686401

1.71604 + 2.547981

—1.07278 — 1.433521

—0.357381 + 0.3242311

> Q@ €| & €|l & €| & €| & &) & 8| & 8|l & 8|l & 8| & &g

= —0.75149 — 2.134611 0.35035 4 4.370701 | —10.2424 — 10.79771
= 0.39490 — 1.517581

= —0.357381 + 0.3242311

= —1.29088 + 2.358281 0.35035 4 4.370701 | —10.2424 — 10.79771

= —0.049630 — 0.2927241
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Solutions to I3

V=1(vol + y/=1CS)

Cusp shape

uw = —0.357381 — 0.3242311
a = —0.75149 + 2.134611
b 0.39490 + 1.517581

0.35035 — 4.370701

—10.2424 +10.79771

u = —0.357381 — 0.3242311
a = —1.29088 — 2.358281
b = —0.049630 + 0.2927241

0.35035 — 4.370701

—10.2424 +10.79771

u= 1542314 0.283031
a= 0.901435 — 0.5998411
b= —0.93554 — 1.193341

—0.04950 — 6.562141

—6.38364 + 4.805221

u= 1542314 0.283031
a = —0.669860 + 0.3025141
b 0.29812 4 1.502811

—0.04950 — 6.562141

—6.38364 + 4.805221

uw= 1.54231 —0.283031
a= 0.901435 + 0.5998411
b= —0.93554 + 1.193341

—0.04950 + 6.562141

—6.38364 — 4.805221

u= 154231 — 0.283031
a = —0.669860 — 0.3025141

—0.04950 + 6.562141

—6.38364 — 4.805221

b= 0.29812 — 1.502811

u = —1.63650

a= 121145 —10.3421 10.2070
b= —0.967540

u = —1.63650

a= 0.352250 —10.3421 10.2070
b= 0.800198
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I I = (u® —4u* + 2u3 + 4u? + b —3u+1, —u® —u* + 4u® + 2u® 4 a —
5u — 1, u” + 2ub — 3u® — 6u* + 3u® + 5u? + 1)

(i) Arc colorings
(1)
a2 = )

u5+u —4u —2u +5u+1 >

a; =
as = \ —ub + 4u? —4u?+3u—1

wut —4ud — 22+ 5u+1
aq =

( 2u8 — u® 4+ 8u* — 8u? 4+ 3u —2
u6+u5—4u —3ud+5u?+3u—1
az = —wP 43wt —u—1
u? —2
a9 = \ —yS — P +4dut 4+ 23 —4u? —u-—1
Uu
a7: u
(”2 )
ud + 2u
ud +u
w® +ut —4u® — 2u2 + B5u+2
—ud 4+ 2u

ut —3ut+1
a0 =\ ut—2u?

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® + u® + 15u* — 12u® — 20u® + 17u — 7

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 w4+ u® + 40’ + 5ut + Tud + 6u® +du+ 1
Ca u” + 8u® + 31u° + 75u* + 122u® + 133u® + 90u + 29
C4,Co w—uS et e — 202+ 1
Cs,C8 w =2 —uttud—u—1
Cg, C7 u’ —2u% —3u® +6ut +3ud —5u—1
€10, C11, C12 w4+ 2u® — 3w’ —6ut + 3w + 54 + 1

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C3 Y+ Ty + 2005 + 27yt + 1993 + 10y + 4y — 1
C2 y" — 2% + 59° — 9yt 4+ 50y% — 79y 4 386y — 841
C4,Co Yy =S 4y — Byt Ty -6y Ay — 1
Cs, C y' =4y +6y° — Ty +5y° — 4y +y —1
€6, €7, €10 y" —10y° + 39y° — T4y* + 65y° — 13y% — 10y — 1
C11,C12

15



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = 1.278170 4 0.3026901
a= 0.690513 + 0.1181281

b= —0.587538 — 0.6097221

—3.01119 + 1.097081

—11.40523 — 3.584251

u= 1.278170 — 0.3026901
0.690513 — 0.1181281
b= —0.587538 + 0.6097221

a =

—3.01119 — 1.097081

—11.40523 +- 3.584251

u = —1.399450 4 0.1561751
a = —0.465734 — 0.7702451
b= 0.41431 — 1.552131

—3.71133 4- 5.672641

—7.64975 — 7.544601

u = —1.399450 — 0.1561751
a = —0.465734 + 0.7702451
b= 0.41431 + 1.552131

—3.71133 — 5.672641

—7.64975 + 7.544601

u = 0.037900 4 0.3975041
1.60254 + 2.171231
b= —0.126346 + 1.1542501

a =

1.16830 — 3.698241

—2.64032 + 6.749041

0.037900 — 0.3975041
1.60254 — 2.171231
—0.126346 — 1.1542501

u =

1.16830 + 3.698241

—2.64032 — 6.749041

0.345358

a
b
u = —1.83325
a
b = —0.400851

—15.2105

3.39060

16



IV.I}=(b—-1,a*+a+u—2, u> —u—1)

(i) Arc colorings

aq =

(
(
(
(

S AR
(o)
(
(
(
(

a+1
au+a+u+2

(ii) Obstruction class =1

(iii) Cusp Shapes = —Tu — 22

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
4
C1,C3 (u — 1)
Co u4
C4,C5,Cg8 u4+u3_3u2_u+1
Co
2 2
C6, C7 (u®+u—1)
2 2
€10, C11,C12 (u* —u—1)

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3 (y—1)*
Co y4
€4,C5,C8 y' =Tyt + 13y — Ty +1
cy
€6, C7, C10 (yQ — 3y + 1)2
C11,C12

19



(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape

u = —0.618034

a= 119353 —2.63189 —17.6740
b= 1.00000
u = —0.618034

a = —2.19353 —2.63189 —17.6740
b= 1.00000

u = 1.61803

a = —1.29496 —10.5276 —33.3260
b= 1.00000
u= 1.61803

a= 0.294963 —10.5276 —33.3260
b= 1.00000

20



(i) Arc colorings

as =

e e S N T S e s S R s O
N N T

ag =
-1
a7 = \ -1
0
ail =\ -1
-1
ag = 0

V.I*=({b-1, a, u+1
5

(ii) Obstruction class = —1

(iii) Cusp Shapes = —18

21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C2,C3 u+1
Cy4, C9 U
Cs5,C6, CT
€8, €105 C11 u—1
C12

22



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
Cs5,C6, CT y—1
€8, €10, C11
C12
Cy4,C9 Yy

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a= 0 —4.93480 —18.0000
b= 1.00000

24



VL I} =(—u*4+b+2, —u®*+3a—2u+1, u+2u?—u-—23)

(i) Arc colorings

1
a2 = \0
1
al — u2
bt 4 Ju -
as = u? —2
B du—
aq = U2+U—
2 1
—ju® —gu+3
a2 = 1
4=+
ag = —u? +2
u
ar = \u
—u?+1
a1l = —U2
2u? +u—3
ag = 2u? — 3
2,2 1 8
—3u —3uty
asz = —2u? —u+4
—2u? —u+5
a0 = \-3u®—u+6
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

25



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
3
c1,C3 u’ +u—1
C2 w42 —u—3
1)3
4, Cg (u+1)
Cs,C8 w2l +u+1
€6, €7, €10 ud —2u® —u+3
C11,C12

26



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c3 Y42y +y—1
Cc2,Cq, C7 y3_6y2+13y_9
€10, C11, C12
€4, Cg (y—1)°
C5,C8 y*— 2" +5y—1

27



(vi) Complex Volumes and Cusp Shapes

Solutions to I vV—1(vol +/—1CS) Cusp shape
u= 1.14790
a= 0.871157 —1.64493 —6.00000
b= —0.682328
u = —1.57395 4 0.368991
a = —0.602245 — 0.1411887 | —1.64493 —6.00000

b= 0.341164 — 1.1615401

u = —1.57395 — 0.368991
a = —0.602245 + 0.1411887 | —1.64493 —6.00000
b= 0.341164 + 1.1615401

28



(i) Arc colorings

as =

VIL. I = (b, a— 1, u—1)

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

29



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs u
Co,C3 u—1
C4,Ce,C7
€85 C9, €10 utl
C11,C12

30



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C5 )
C2,C3,C4
Ce, C7,C8 y—1
C9, €10, C11
C12

31



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol + v/—1CS) Cusp shape
u = 1.00000
a = 1.00000 —1.64493 —6.00000
b= 0

32



VIIL. I =(b+1,a—1, u—1)

(i) Arc colorings

as =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6

33



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Co u—1
C3,Cg U
C4, Cs5, Cg
€7, C9, €10 utl
C11,C12

34



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4
Cs5,C6, CT y—1
C9, 10, C11
C12
C3,C8 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = 1.00000 —1.64493 —6.00000
b = —1.00000

36



IX. I? =(a, b—1, v+ 1)

(i) Arc colorings

as =

a7 =
1
ailr = \0
-1
ag = 0
0
az = \1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C3,C4 u -+ 1
Cs5,Cg, C9
C2, Cg, C
2,06, C7 U

€10, C11, C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y— 1
Cs5, C8, Co
C2,Cg, C7 y

€10, C11, C12

39



(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —1.64493 —6.00000
b= 1.00000
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X. u-Polynomials

Crossings u-Polynomials at each crossing
¢1, Cs uw(u —1)°(u+1)*(w® +u—1)(u” +ub + - +4u+1)
(S w4 13u 4 1) (- 4T - 4 82u — 11)
. u(u—1)%(u+ 1) (u® + 2u® —u — 3)
(u” 4 8u® + 31u° + 7Hut + 122u® + 133u? + 90u + 29)
((ur = 6ut 4 — 10w+ 4)?) (w4 10u' + - - — 5u — 3)
c4. o u(u+1)%(u* +u® = 3u? —u+ 1) (u” —u® +u* +u® —2u* +1)
(' = 5ut® 4 = 17w+ 5) (u® — 20T 4 - — 264u + 24)
u(u — 1) (u+ 1)%(u® = 2u® +u+ 1) (u* +u® — 3u? —u+1)
Cs, C
* (" = 2w —ut e = D) (! 20t = 20— 1)
(B - =1l — 1)
u(u — 1) (u4 1) (u? +u — 1)*(u® — 2u® —u + 3)
Cg, C
o c(u” = 2ub 4 = Bu? = D) (M 4wt 4 Bu— 1)
S(ut® =20 -+ 13u 4+ 3)
u(u — 1) (u+1)*(w? —u—1)*(u® — 2u* —u + 3)
€10, C11, C12

w208 4 e+ D) (WM w4 30— 1)2
c(u'® =20 + - 4 13u + 3)
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XI. Riley Polynomials

Crossings Riley Polynomials at each crossing
. yly—1"(* +20> +y—1)
1,€3
(y" 4 Ty® 4+ 2000 4+ 27yt + 1993 4+ 10y 4+ 4y — 1)
Sy 13y 4 — 49y + 1) (4 24977 + -+ 4 3132y + 121)
. vy — 1)*(y® — 6y* + 13y — 9)
(" = 2¢° + 5y° — 9yt + 50y — 79y 4 386y — 841)
(Y™ — 4yt + - — 188y 4+ 16)%)(y'0 — 4y’ + - + 113y +9)
yly —D°(y" — 7y® +13y° — Ty + 1)
Cy4, C
’ (" —y® +4y° =5yt + Ty’ — 6y + 4y — 1)
(' — 11y" 4 - — 199y + 25)(y?® — 18y*7 + - - - — 12000y + 576)
yly — 1)3(y3 —2y% + 5y — 1)(y4 — Ty +13y% — Ty + 1)
€5, C8 7 6 16 15
W4y +y -1y - 10y + - — 18y + 1)
WPy ATy 4 1)
C6, ¢, C10 y(y — 1)°(y* =3y +1)*(y° — 6y> + 13y — 9)
C11,C12 (y" —10y° + 39y° — T4y + 65¢y° — 13y* — 10y — 1)

(M =15y 4+ 3y + 1)) (yC — 16y - — 43y +9)
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